


Seven people A, B, C, D, E, F and
G are sitting in a circle, five of
them are facing the centre while
the two are facing opposite to
the centre. C sits third to the left
of D and both are facing the
centeY.E is neither on immediate
neighbor of D nor of C. The one
sitting exactly b/w D and F is
facing opposite to the centre. G
sits third to the right of A and G
is facing the centre. One of B’s
neighbor is facing oppsite the
centre, which two are facing in
opposite to centre direction?




Hid @fT A, B, C, D, E, F 3R G &
gq § 93 8, S ¥ Ui @1 49 Dn
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8 C &1 Adveaq uer 8| o aafp
D3IRF P 3 99 ¥ 83T 8 SHHI
TG $% & QUWId 81 G, A S S A
AR WM TR 99T © R G &1 g9
dg B AR 2| B BT Th USl b5
o fauda fRem & &R S=[@ §, 3
9 3 Te 9 @ fawa fewm @
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Pointing to a person in the
picture, a lady said that, “He is
son of the brother of the only
daughter of my Mother’s father’s
only daughter”. How is lady
related to the person in the
picture?

TWER ¥ Ush Ffth &I 3R SIRT S
gY, U dAfgelr ° el b, a8 a9 i
& fIar &t gHard 9 S HIg BT 9T
2" | wfgem R d =afts ¥ f&9 vor

et &7 @ (a) Sister
(b) Mother



In which of the following
expressions will ‘H < F’ and

‘J > H’ be definitely be true?

frafoReg & 9 9 afaafe A
‘H < F’ 3R 81T <J > B’ fAf¥ea &y
H 9 BRIT?

@ F>G>H<I=J

() F<GLH<I<J




Statement:

1) All kick are punch
2) Some punch are needs
3) All needs are boy.
Conclusion:
\/ir All kick being boy is a
possibility
)nﬁ Some kick are needs
_~] Some boy are punch
\/d) Some punch are kick
L/e‘f All needs being kick is a
possibility
Which conclusion not follow?
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1) T foep Ua

2) B U9 IO} &

3) T TERd ASD § |

forep:
a)ﬂ‘ﬁﬁﬁ$a@$@ﬁﬁ‘ﬁmﬁm

B
b) $B Fd THA &

d) $9 U4 fos &

e) G STovdl @ e 89 &
(a) a \MWIEHT%
(c) c (d)e @ a1 fpy SR & FHRaT?



Statement:

1) No grip is a queen
2) Some queens are touch
3) All touch are blue

Conclusion:
\/;ome queens are blue

Snme touch are not grip
)< c) Some blue are grips

\/d)- Some blue are touch

No queen is a grip
Which conclusion does not

follow?

h:

1) BIg PHs I+ 8! ©
2) B T WY &
3) I gl et ©




h)@ﬂﬁfﬁ#ﬁﬁ%
b) $B WY TH$ Tal &
c)@qﬁ’r@r%
d) $B el WY 3
%qﬁéﬁamaﬁr%
T fspy SERYT T8 T 27
@) c (b) d

(c) a @d) b



Five persons P, Q, R, S and T are
sitting in a row facing north, P is
next to S but not to T. Q sits
next to R.

Who is in left-most corner, who
is to the left of S if T is

sitting next to Q?
qiaarﬁﬁp,q,n,saiwl
H IR B 3R @ @ s8lg, T,
P T H & odfdd R & &9l H
21 Q, R® ¥ § 90T B |

99 91U B H D9 ®, i T, Q

TAH S BT EA S P a8
P 87

P (b) R

(c) Q (d) T
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In five person, P, O, R, S, T. Q is

smaller than T only. P is taller
than S only. If they are arranged
in descending order of length
who will be third in the order?

Urg R4l |, P, Q, R, S, T. Q &ddl
THABITE| P Pdd S | ol 2|
gfe 98 oe9s @ NS B9 N
o fhar &g @ w9 H AR
WM T DI BNIT?

TR (b) S

(c) T (d) P



A cube of side 18 cm is painted
yellow on all the faces and then
cut into smaller cube of sides 3
cm each find the number of

smaller cubes that have only two
faces painted?

18 I Holl 9/d U ©< I Wl
Hasl W der 1 @ Srar 7 SR
fBR 3 9 UAP Yo a1t BIC ¥4 H
orc fdar mar 8, U9 BIc w4l Y
T 1 DIY {59 dael a1 |as
3 gQ 87

(a) 36 \J-lﬂé

(c) 20 (d) 64



A cube of side 49 cm is pointed

purple on all faces and then cut
into smaller cubes of side 7 cm

each. Find the no of smaller
cubes having only omne face
pginted.

49 QA YOIl dlf Tb o9 & |9
fraRl @ S [T O/ [ T 8
R R 7 AW o 9t BIC TN H
HIeT ST 2| U9 BIS ¥4I &1 G&T
sTd Pt e dad 6 Bad
f\'ug"érl

(a) 100 (b) 25

(c) 50 LAAT 150



R

v R

(ko

|0

o T

v

Point Q is 20 m to the North of
Point P. Point Q is 10 m to the
west of Point R. point R is 10 m
to the North of Point S. Point T
is 10 m to the East of Point S.
Point U is 10m to the south of
Point T

What is the total distance from
the point P to point T?

fig Q fig P ® 20 #rex SwR A 2
ffg Q fdig R & 10 #iex ulR=m
gl fig R, fdg s & 10 Hiex o< #
gIffg T fdg s & 10 #icr 4@ # &
ffgufdig T & <fRror § 10 Aex 2

ffgpafdg T d@ & o T &

=14
(a) 40m \J&rﬁ

(c) 60m (d) 70m



What will come in place of
question mark (?) in the
following series

fr=ferRed e % e s (?) @
WIH YR T 37
%:12::@:?
(a) 12 (b) 20
(c) 25 \)drﬁ

2+ 219
b 3% S-..-_-.\c‘



Complete the letter-gereis.
QWERJQ!N!%W,{ E!F»,«BRT
@Al T PN
QW _RTQ FR QW_ _T_ _HRT
(a) FWTGRQX
(b) EXTGRQX

EWTGRQW
(d) EWTHSQW

O



Statement: why don’t you go to
the court if the employer does
not pay you the provident fund
combination?

As ption:
courts can intervene in
matter of dispute b/w
mployer and employees

) it is obligatory for the
employees to pay the
provident fund contribution
to the employees.

HY:
afe faweT et wiesy fAfer
HATSTT BT YT ol DYl & ol
31T IASTAT FAI -T&l S ?



HI=T:
1) frareT SR HH=IRET & 9=
faare & AMel H feTed gEY
PR Dl B

2) FHARAT BT Afqsy fAfe
ST BT YA HAT AR
& forg siffard 2|

(a) Only I is implicit
(b) Only II is implicit

\/M‘Both is implicit
(d) Neither is implicit
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Statement: The Govt. has made
an appeal to all the citizens to
honestly pay income tax and file
resturns reflecting the true

income level to help the
government to carry out

development activities.

Assumption:

1) People may now start paying
more. Taxes in response to
the appeal.

k/ZI/I’he total incogme tax
c

ollection may considerably
increase in near future



(a) only I is implicit

«_Ab}enly Il is implicit

(c) both is implicit
(d) Neither is implicit

HY:

WHR A I ARSI | TR
H A™AHY DT I DA AR
qrfad MY R B I §Y
Res qiRaet & &) 3l a1 &
arfe SRaR &1 e afafafera
® g A Aeq AT 99 |
HI=gaT:

1) TNT 39 3AfAH AT HIAT
IS N 9Pd B | A B Fa19
H Y.

2) ide widsy # §o IR
HUE H HTo! gfg B Pl ©
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Select the figure that will come
next in following series.

SH APHa B TAIT  PHY Ol
f=foRaa sjaem # omT syt |

SU W&d



Select the number that will come
next in following series.

SS9 ST BT T4 B Gl rerRad
e § R T |
980 : 53 s 725 : 7

(a) (b) 39
4 (d) 35

©

£1948°



In a row A is 35 from Top and B
is 215t from bottom. C is sitting

exactly b/w them.
_———/

1) How many minimum No. of
people can sit in this row?

2) In the minimum arrangement
What is the position of C from
top end of the row?

U Uh H A Y | 350 WM R B
IR B M ¥ 219 WM w® B
C S°@ €19 # 99T 2|

1) 39 Ufth # A9 fdaa @rT 99
Hhd 87

2) R[AqH JawT H

gfth @ ¥¥ BR ¥ C & RAF &I
87
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A man moves 10 m towards any
where. Now he turns to his left
direction and moves 5 m then he
turns 45° in clock wise direction

5 and moves 3m, now he found he
is going towards ‘EAST’
4 direction. Find in which

(b é S direction he started his journey:

U IAreHr el df ®”-IF @ 3R 10
Hex gordr 8| 319 98 39+ 94y faum
§ Hgedr 8 3R 5 Aiex goar B, iR
98 T$! @ e # 45° gear 7 3R
3 HIeX dordl 8, 3 99+ Ui & a8
i feem &Y 3R W1 XET 2| AT BN |

o N ' SeH fea fRem & o+l aEm I
(c) S.W @NE o




2km East of Q and U is 3km

4 v
2 2, P, Qb R, S, U, V, X are seven
5 ‘; P house. R is 2km west of Q. P is

(a) 2 km
(c) 4 km

7 North of P. V is 2km West of U

while S is 6 km South of V. X is
situated just in middle of Q and
R. Distance between Q and S is?

P,Q,R,S,U,V, XUd R §| R, Q
dURTH H 2 fHAT 2 P, Q & 2 f&H!
7d # 2 3R U, P9 3 fHA SR A
21V, U 2 fd oi¥ew § 8 wefe
S, VI 6 f&Hr gféor § g

\/M{km X, QiIRReMTHLIQ3RQ
() 6 km drg 2 38 FATC?



The image of a clock in a mirror

in seen as 3 : 15 what is the right
time?

gyor § ger o7 ufafew 3 : 15 e

odT & 9El 9Hg T 27
(a) 8 : 45 (b) 7 : 45
(c) 10 : 45 (d) 9 : 45

Righk Tuma.
R1US



The image of a clock in the
mirror shows quarter to six.
What is the right time?

TUor ¥ < &7 ufafew 49 6 I9 BT
fears <ar 8 | 9el 9wy R 87

(a) 6 : 45 b) 5:15

(c) 5: 45 \)}415



8 friends A, B, C, D, E, F, G, H
are sitting around a circle facing
the centre. A sits third to the left
of B, and second to the right of
F. D does not sit next to A or B,
C and D always sit M-tu each
other. H never sits next to D and
C does not sit next to B. Who sits
third to right of H?

g "9 A,B,C,D,E, F, G, HU(& g
P TRl 3R Bx DI AR J& FD 90
1A B® 9U q TR WM IR 3R
F® QU ¥ TR WM R 9aT 1 D,
A B D TTA H T8I . C
3R D BN U TN &

S H FN AN DD T H A8 98T
23R C, BB T H 8l dodrl 2|
H® I 9 0 -H IR 9 90T
87



(20, 90, 10)
(25, 135, 10)

Select the set in which the
numbers are related in the same
way as are the numbers of the
following sets.

(NOTE: Operations should be
performed on the whole
numbers, without breaking down
the numbers into its constituent
digits. E.g. 13 - Operations on 13
such as adding/subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then performing
mathematical operations on 1
and 3 is not allowed)



(a) (22, 150, 7)
© (b) (19, 80, 15)
(/WIB, 72, 10)

(d) (30, 169, 12)

99 9T & U9 PN forad G
94! UHR getg § o fAeferRad
e & G B |
@Em‘lﬁmwfﬁm
IRy, YR B SUS TTH AP A
dre faer| S @ fow 13 — 13
R WGfhgw o9 & 13 H
ST / ST /O $RAT 3G B
HHdl 81 13 @ 1 3R 3 # el
IR R 1 3R 3 R 7rf wfhand
& DI A TE B)

(20, 90, 10)

(25, 135, 10)



Which figure follows next in this

/—\ A pattern ?

TozﬁﬂﬁB&T&TUO_zlEOZ&. IE’PU Problem figure:

e # aprar i a9 «4r 87
%mﬂ \ -

9T o=

L/H/ZA X Tu Oy &2 F uT mﬁﬁdd

Dé,/_\onT @ 207U @




In a certain language RESPECT is
coded as ‘EECPRST’ HONOUR is
coded as ‘OOUHNR’ COURAGE

will be coded as?
W,. %ﬁw £
HONOUR

Vomlcowwaf _‘_O_O_I_JHNR’ qedg fbar Smar g1 S9
— > 4197 ¥ COURAGE &3 fordl Sirgef?

g6d 174" LMUCGR XS] AEOUCRG

(c) CRGAEOU (d) CGRAEOU

Ao



Statement:

Should a strong institution of
ombudsman be created in India?

Argument:

/ Yes, this will bring
transparency and accountability

in the administration.

2) No, this will develop lack of
/{pﬂ( We“!\initiative and flexibility in the

administration.

DY

T 9Rd § APYA D UH Holgd

GRIT §1g S =fRy?



Argument (1) is strong
(b) Argument (2) is strong
(c) Both are strong

(d) Neither



